1.

6" YEAR CIRCLE TEST OCT 2019

Sis the circle
X’ +y?—4x+6y-12=0

(i) Write down the centre and radius of S
(ii) Write down the equation of a line of slope -1.
(iii) Draw a diagram of the circle S.

(iv) Find the distance from the centre of S to a chord of length 2v23
(V) Find the equations of the chords of the circle S, of slope -1 and length 2v23.

Find the equations of the circles through the point (2, 14), touching the Y-axis and
with their centre on the line 2x -y =0.

Y
2x-y=0

2]

Circle S1 has centre (-1, 3) and radius 3. Circle S; has radius 4 and touches S,
externally at (-1, 6).
(i) Find the centre of S..

Circle S3 is drawn around S; and S; so that they each touch Sz internally as shown.

(ii) Find the equation of Sa.
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